
LIGHT-GAGE STUDLIGHT-GAGE STUDLIGHT-GAGE STUDLIGHT-GAGE STUD
WALL, SEE PLANWALL, SEE PLANWALL, SEE PLANWALL, SEE PLAN

#10 TEK#10 TEK#10 TEK#10 TEK
SCREWS @SCREWS @SCREWS @SCREWS @
EA. FLANGEEA. FLANGEEA. FLANGEEA. FLANGE

(E) WOOD SUBFLOOR(E) WOOD SUBFLOOR(E) WOOD SUBFLOOR(E) WOOD SUBFLOOR

18ga. BOTTOM TRACK TO18ga. BOTTOM TRACK TO18ga. BOTTOM TRACK TO18ga. BOTTOM TRACK TO
MATCH WALL WIDTH, FASTENMATCH WALL WIDTH, FASTENMATCH WALL WIDTH, FASTENMATCH WALL WIDTH, FASTEN
TO (E) WOOD SUBFLOORTO (E) WOOD SUBFLOORTO (E) WOOD SUBFLOORTO (E) WOOD SUBFLOOR
USING (2) #10x'L' WOODUSING (2) #10x'L' WOODUSING (2) #10x'L' WOODUSING (2) #10x'L' WOOD

SCREWS @ 12"o.c.SCREWS @ 12"o.c.SCREWS @ 12"o.c.SCREWS @ 12"o.c.

STUD WALL CSTUD WALL CSTUD WALL CSTUD WALL C
TOP PLATETOP PLATETOP PLATETOP PLATE

3" x 16" x 16ga.3" x 16" x 16ga.3" x 16" x 16ga.3" x 16" x 16ga.
PLATE w/ (4)PLATE w/ (4)PLATE w/ (4)PLATE w/ (4)
#10 TEK SCREWS#10 TEK SCREWS#10 TEK SCREWS#10 TEK SCREWS
TO EA. WALL SEGMENTTO EA. WALL SEGMENTTO EA. WALL SEGMENTTO EA. WALL SEGMENT

STUD WALL ASTUD WALL ASTUD WALL ASTUD WALL A
TOP PLATETOP PLATETOP PLATETOP PLATE

TYP.TYP.TYP.TYP.

STUD WALL BSTUD WALL BSTUD WALL BSTUD WALL B

END STUD WALL BEND STUD WALL BEND STUD WALL BEND STUD WALL B
TOP PL. HERETOP PL. HERETOP PL. HERETOP PL. HERE

END STUD WALL CEND STUD WALL CEND STUD WALL CEND STUD WALL C
TOP PL. HERETOP PL. HERETOP PL. HERETOP PL. HERE

END STUD WALL AEND STUD WALL AEND STUD WALL AEND STUD WALL A
TOP PL. HERETOP PL. HERETOP PL. HERETOP PL. HERE

3333

S300S300S300S300

CONT. 20ga.CONT. 20ga.CONT. 20ga.CONT. 20ga.
STEEL STUD TOSTEEL STUD TOSTEEL STUD TOSTEEL STUD TO
MATCH WALL WIDTHMATCH WALL WIDTHMATCH WALL WIDTHMATCH WALL WIDTH

CONT. 20ga. TRACKCONT. 20ga. TRACKCONT. 20ga. TRACKCONT. 20ga. TRACK
TO MATCH WALL WIDTHTO MATCH WALL WIDTHTO MATCH WALL WIDTHTO MATCH WALL WIDTH

STEEL STUDSTEEL STUDSTEEL STUDSTEEL STUD
SEE PLANSEE PLANSEE PLANSEE PLAN

SHEATHINGSHEATHINGSHEATHINGSHEATHING
SEE ARCH.SEE ARCH.SEE ARCH.SEE ARCH.

#10 TEK SCREWS#10 TEK SCREWS#10 TEK SCREWS#10 TEK SCREWS
@ 16"o.c.@ 16"o.c.@ 16"o.c.@ 16"o.c.

TOP PLATE STUD ANDTOP PLATE STUD ANDTOP PLATE STUD ANDTOP PLATE STUD AND
TRACK SECTIONS SHALLTRACK SECTIONS SHALLTRACK SECTIONS SHALLTRACK SECTIONS SHALL
BE CONTINUOUS. SPLICEBE CONTINUOUS. SPLICEBE CONTINUOUS. SPLICEBE CONTINUOUS. SPLICE
ONLY AT LOCATIONS SHOWNONLY AT LOCATIONS SHOWNONLY AT LOCATIONS SHOWNONLY AT LOCATIONS SHOWN

ON PLANON PLANON PLANON PLAN

T/ WALL =T/ WALL =T/ WALL =T/ WALL =
SEE ARCH.SEE ARCH.SEE ARCH.SEE ARCH.

STEEL STUD FRAMINGSTEEL STUD FRAMINGSTEEL STUD FRAMINGSTEEL STUD FRAMING
SEE PLANSEE PLANSEE PLANSEE PLAN

1 1/4" DEEP TRACK1 1/4" DEEP TRACK1 1/4" DEEP TRACK1 1/4" DEEP TRACK
TOP & BOT. TOTOP & BOT. TOTOP & BOT. TOTOP & BOT. TO
MATCH WALL STUDSMATCH WALL STUDSMATCH WALL STUDSMATCH WALL STUDS#10 TEK SCREWS#10 TEK SCREWS#10 TEK SCREWS#10 TEK SCREWS

@ 24"o.c.@ 24"o.c.@ 24"o.c.@ 24"o.c.

LIGHT GAGE HEADERLIGHT GAGE HEADERLIGHT GAGE HEADERLIGHT GAGE HEADER
SEE PLANSEE PLANSEE PLANSEE PLAN

B/ OPENINGB/ OPENINGB/ OPENINGB/ OPENING
SEE ARCH.SEE ARCH.SEE ARCH.SEE ARCH.

STEEL STUDSTEEL STUDSTEEL STUDSTEEL STUD
FRAMINGFRAMINGFRAMINGFRAMING
SEE PLANSEE PLANSEE PLANSEE PLAN

(3) #10 TEK(3) #10 TEK(3) #10 TEK(3) #10 TEK
SCREWSSCREWSSCREWSSCREWS
EACH SIDEEACH SIDEEACH SIDEEACH SIDE

#10 TEK @#10 TEK @#10 TEK @#10 TEK @
@12"o.C.@12"o.C.@12"o.C.@12"o.C.
EACH FLANGEEACH FLANGEEACH FLANGEEACH FLANGE

1 1/4 TRACK -1 1/4 TRACK -1 1/4 TRACK -1 1/4 TRACK -
FLOOR TO TOPFLOOR TO TOPFLOOR TO TOPFLOOR TO TOP
OF HEADEROF HEADEROF HEADEROF HEADER

1 1/4" TRACK TO MATCH1 1/4" TRACK TO MATCH1 1/4" TRACK TO MATCH1 1/4" TRACK TO MATCH
STUDS- LENGTH TOSTUDS- LENGTH TOSTUDS- LENGTH TOSTUDS- LENGTH TO
MATCH HEADER DEPTHMATCH HEADER DEPTHMATCH HEADER DEPTHMATCH HEADER DEPTH

HEADER SEE  ARCH.HEADER SEE  ARCH.HEADER SEE  ARCH.HEADER SEE  ARCH.

B/ OPENINGB/ OPENINGB/ OPENINGB/ OPENING
= SEE ARCH.= SEE ARCH.= SEE ARCH.= SEE ARCH.

6666

S300S300S300S300

(3) #10 SCREWS(3) #10 SCREWS(3) #10 SCREWS(3) #10 SCREWS
TYP. EACH SIDETYP. EACH SIDETYP. EACH SIDETYP. EACH SIDE

1 1/4" TRACK TO MATCH1 1/4" TRACK TO MATCH1 1/4" TRACK TO MATCH1 1/4" TRACK TO MATCH
STUDS- LENGTH TOSTUDS- LENGTH TOSTUDS- LENGTH TOSTUDS- LENGTH TO
MATCH HEADER DEPTHMATCH HEADER DEPTHMATCH HEADER DEPTHMATCH HEADER DEPTH

1 1/4" TRACK1 1/4" TRACK1 1/4" TRACK1 1/4" TRACK
FLOOR TO TOPFLOOR TO TOPFLOOR TO TOPFLOOR TO TOP
OF HEADEROF HEADEROF HEADEROF HEADER

DOUBLE STUD w/DOUBLE STUD w/DOUBLE STUD w/DOUBLE STUD w/
(2) #10 TEK(2) #10 TEK(2) #10 TEK(2) #10 TEK
SCREWS @SCREWS @SCREWS @SCREWS @
24"o.c.24"o.c.24"o.c.24"o.c.

STUD WALL BSTUD WALL BSTUD WALL BSTUD WALL B
TOP PLATETOP PLATETOP PLATETOP PLATE

3" x 9" x 16ga.3" x 9" x 16ga.3" x 9" x 16ga.3" x 9" x 16ga.
PLATE w/ (4)PLATE w/ (4)PLATE w/ (4)PLATE w/ (4)
#10 TEK SCREWS#10 TEK SCREWS#10 TEK SCREWS#10 TEK SCREWS
TO EA. WALL SEGMENTTO EA. WALL SEGMENTTO EA. WALL SEGMENTTO EA. WALL SEGMENT

3333

S300S300S300S300 TYP.TYP.TYP.TYP.

STUD WALL ASTUD WALL ASTUD WALL ASTUD WALL A

END STUD WALL AEND STUD WALL AEND STUD WALL AEND STUD WALL A
TOP PL. HERETOP PL. HERETOP PL. HERETOP PL. HERE

END STUD WALL BEND STUD WALL BEND STUD WALL BEND STUD WALL B
TOP PL. HERETOP PL. HERETOP PL. HERETOP PL. HERE

(E) WOOD SUBFLOOR(E) WOOD SUBFLOOR(E) WOOD SUBFLOOR(E) WOOD SUBFLOOR

600S162-33600S162-33600S162-33600S162-33
STUDS @ 16"o.c.STUDS @ 16"o.c.STUDS @ 16"o.c.STUDS @ 16"o.c.

1
' 
- 

5
"

1
' 
- 

5
"

1
' 
- 

5
"

1
' 
- 

5
"

SEE ARCH. FLOOR PLANSEE ARCH. FLOOR PLANSEE ARCH. FLOOR PLANSEE ARCH. FLOOR PLAN

(4) #10 TEK(4) #10 TEK(4) #10 TEK(4) #10 TEK
SCREWS TYP.SCREWS TYP.SCREWS TYP.SCREWS TYP.

362S162-33362S162-33362S162-33362S162-33
STUDS @ 16"o.c.STUDS @ 16"o.c.STUDS @ 16"o.c.STUDS @ 16"o.c.

CONT. TRACKCONT. TRACKCONT. TRACKCONT. TRACK

S300

1
TYP.TYP.TYP.TYP.

PL. 1/4"x6"x6" w/ (4)PL. 1/4"x6"x6" w/ (4)PL. 1/4"x6"x6" w/ (4)PL. 1/4"x6"x6" w/ (4)
1/4"Ø WOOD SCREWS1/4"Ø WOOD SCREWS1/4"Ø WOOD SCREWS1/4"Ø WOOD SCREWS
THUS:THUS:THUS:THUS:

WF COL. SEE PLANWF COL. SEE PLANWF COL. SEE PLANWF COL. SEE PLAN

WOOD STRUCTURE, FIELD VERIFYWOOD STRUCTURE, FIELD VERIFYWOOD STRUCTURE, FIELD VERIFYWOOD STRUCTURE, FIELD VERIFY
THICKNESS AND NOTIFYTHICKNESS AND NOTIFYTHICKNESS AND NOTIFYTHICKNESS AND NOTIFY
ENGINEER IN WRITING PRIOR TOENGINEER IN WRITING PRIOR TOENGINEER IN WRITING PRIOR TOENGINEER IN WRITING PRIOR TO
CONSTRUCTIONCONSTRUCTIONCONSTRUCTIONCONSTRUCTION

F
IE

LD
 V

E
R
IF

Y
F
IE

LD
 V

E
R
IF

Y
F
IE

LD
 V

E
R
IF

Y
F
IE

LD
 V

E
R
IF

Y

3/163/163/163/16
TYP.TYP.TYP.TYP.

(E) WOOD SUBFLOOR(E) WOOD SUBFLOOR(E) WOOD SUBFLOOR(E) WOOD SUBFLOOR

(E) WOOD JOISTS(E) WOOD JOISTS(E) WOOD JOISTS(E) WOOD JOISTS

3/4" PLYWOOD, SEE ARCH.3/4" PLYWOOD, SEE ARCH.3/4" PLYWOOD, SEE ARCH.3/4" PLYWOOD, SEE ARCH.
SECURE TO EXISTING PLYWOODSECURE TO EXISTING PLYWOODSECURE TO EXISTING PLYWOODSECURE TO EXISTING PLYWOOD
OR PROVIDE BLOCKINGOR PROVIDE BLOCKINGOR PROVIDE BLOCKINGOR PROVIDE BLOCKING

5/8" GYP. SEE ARCH.5/8" GYP. SEE ARCH.5/8" GYP. SEE ARCH.5/8" GYP. SEE ARCH.

LL
 P

R
O

V
ID

E
D

LL
 P

R
O

V
ID

E
D

LL
 P

R
O

V
ID

E
D

LL
 P

R
O

V
ID

E
D

F
IR

E
-R

A
T
E
D

 C
E
IL

IN
G

F
IR

E
-R

A
T
E
D

 C
E
IL

IN
G

F
IR

E
-R

A
T
E
D

 C
E
IL

IN
G

F
IR

E
-R

A
T
E
D

 C
E
IL

IN
G

(2
-H

O
U
R
 A

S
S

E
M

B
LY

)
(2

-H
O

U
R
 A

S
S

E
M

B
LY

)
(2

-H
O

U
R
 A

S
S

E
M

B
LY

)
(2

-H
O

U
R
 A

S
S

E
M

B
LY

)

1
/2

" 
T
Y
P
.

1
/2

" 
T
Y
P
.

1
/2

" 
T
Y
P
.

1
/2

" 
T
Y
P
.

1/2" TYP.1/2" TYP.1/2" TYP.1/2" TYP.

PROVIDE 2x6 BLOCKINGPROVIDE 2x6 BLOCKINGPROVIDE 2x6 BLOCKINGPROVIDE 2x6 BLOCKING
BETWEEN (E) JOISTS @BETWEEN (E) JOISTS @BETWEEN (E) JOISTS @BETWEEN (E) JOISTS @
CONNECTION PLATESCONNECTION PLATESCONNECTION PLATESCONNECTION PLATESSIMPSON LU26 HANGERSIMPSON LU26 HANGERSIMPSON LU26 HANGERSIMPSON LU26 HANGER

TYPICALTYPICALTYPICALTYPICAL

IN
T
O

 B
LO

C
K
IN

G
IN

T
O

 B
LO

C
K
IN

G
IN

T
O

 B
LO

C
K
IN

G
IN

T
O

 B
LO

C
K
IN

G
2

" 
M

IN
. 

P
E
N
.

2
" 
M

IN
. 

P
E
N
.

2
" 
M

IN
. 

P
E
N
.

2
" 
M

IN
. 

P
E
N
.

2x RIM JOIST2x RIM JOIST2x RIM JOIST2x RIM JOIST

2x6 WOOD JOIST @ 12"o.c.2x6 WOOD JOIST @ 12"o.c.2x6 WOOD JOIST @ 12"o.c.2x6 WOOD JOIST @ 12"o.c.

PROVIDE 10d NAILS @PROVIDE 10d NAILS @PROVIDE 10d NAILS @PROVIDE 10d NAILS @
EACH JOIST (TOE-NAILEDEACH JOIST (TOE-NAILEDEACH JOIST (TOE-NAILEDEACH JOIST (TOE-NAILED
TO WALL) EACH SIDETO WALL) EACH SIDETO WALL) EACH SIDETO WALL) EACH SIDE

2x4 WOOD WALL STUDS @2x4 WOOD WALL STUDS @2x4 WOOD WALL STUDS @2x4 WOOD WALL STUDS @
16"o.c. AND TOP AND16"o.c. AND TOP AND16"o.c. AND TOP AND16"o.c. AND TOP AND
BOTTOM PLATES, FASTENBOTTOM PLATES, FASTENBOTTOM PLATES, FASTENBOTTOM PLATES, FASTEN
TO FLOOR USING (2) 10dTO FLOOR USING (2) 10dTO FLOOR USING (2) 10dTO FLOOR USING (2) 10d

NAILS @ 16"o.c.NAILS @ 16"o.c.NAILS @ 16"o.c.NAILS @ 16"o.c.

WOOD STRUCTURE, FIELD VERIFYWOOD STRUCTURE, FIELD VERIFYWOOD STRUCTURE, FIELD VERIFYWOOD STRUCTURE, FIELD VERIFY
THICKNESS AND NOTIFYTHICKNESS AND NOTIFYTHICKNESS AND NOTIFYTHICKNESS AND NOTIFY
ENGINEER IN WRITING PRIOR TOENGINEER IN WRITING PRIOR TOENGINEER IN WRITING PRIOR TOENGINEER IN WRITING PRIOR TO
CONSTRUCTIONCONSTRUCTIONCONSTRUCTIONCONSTRUCTION

20ga. SLIP TRACK TO MATCH20ga. SLIP TRACK TO MATCH20ga. SLIP TRACK TO MATCH20ga. SLIP TRACK TO MATCH
WALL WIDTH, FASTEN TO WOODWALL WIDTH, FASTEN TO WOODWALL WIDTH, FASTEN TO WOODWALL WIDTH, FASTEN TO WOOD
STRUCTURE USING (2) #10 WOODSTRUCTURE USING (2) #10 WOODSTRUCTURE USING (2) #10 WOODSTRUCTURE USING (2) #10 WOOD
SCREWS @ 12"o.c.SCREWS @ 12"o.c.SCREWS @ 12"o.c.SCREWS @ 12"o.c.

STEEL STUD FRAMINGSTEEL STUD FRAMINGSTEEL STUD FRAMINGSTEEL STUD FRAMING
SEE PLANSEE PLANSEE PLANSEE PLAN

1
" 
 G

A
P

1
" 
 G

A
P

1
" 
 G

A
P

1
" 
 G

A
P

BRACE, SEE PLANBRACE, SEE PLANBRACE, SEE PLANBRACE, SEE PLAN

GYP. SHEATHING, SEE ARCH.GYP. SHEATHING, SEE ARCH.GYP. SHEATHING, SEE ARCH.GYP. SHEATHING, SEE ARCH.

PL. 1/8"x2"x0'-4" FASTENPL. 1/8"x2"x0'-4" FASTENPL. 1/8"x2"x0'-4" FASTENPL. 1/8"x2"x0'-4" FASTEN
TO STUDS USING (4) #10TO STUDS USING (4) #10TO STUDS USING (4) #10TO STUDS USING (4) #10
TEK SCREWSTEK SCREWSTEK SCREWSTEK SCREWS

PLYWOOD, SEE ARCH.PLYWOOD, SEE ARCH.PLYWOOD, SEE ARCH.PLYWOOD, SEE ARCH.

1/81/81/81/8

1/81/81/81/8

PROVIDE BACK-TO-BACKPROVIDE BACK-TO-BACKPROVIDE BACK-TO-BACKPROVIDE BACK-TO-BACK
LIGHT-GAGE STUDS @ CONNECTIONLIGHT-GAGE STUDS @ CONNECTIONLIGHT-GAGE STUDS @ CONNECTIONLIGHT-GAGE STUDS @ CONNECTION

PL. 3/16x6x6 w/ (4) 1/2"ØPL. 3/16x6x6 w/ (4) 1/2"ØPL. 3/16x6x6 w/ (4) 1/2"ØPL. 3/16x6x6 w/ (4) 1/2"Ø
BOLTS (VERIFY BOLT HEADBOLTS (VERIFY BOLT HEADBOLTS (VERIFY BOLT HEADBOLTS (VERIFY BOLT HEAD
TYPE w/ ARCH.)TYPE w/ ARCH.)TYPE w/ ARCH.)TYPE w/ ARCH.)

(E) BRICK MASONRY WALL(E) BRICK MASONRY WALL(E) BRICK MASONRY WALL(E) BRICK MASONRY WALL

1/2"Ø HILTI HIT-I1/2"Ø HILTI HIT-I1/2"Ø HILTI HIT-I1/2"Ø HILTI HIT-I
INTERNALLY THREADEDINTERNALLY THREADEDINTERNALLY THREADEDINTERNALLY THREADED
INSERTS. DRILL / INSTALLINSERTS. DRILL / INSTALLINSERTS. DRILL / INSTALLINSERTS. DRILL / INSTALL
USING HILTY HY 70USING HILTY HY 70USING HILTY HY 70USING HILTY HY 70

ADHESIVE SYSTEMADHESIVE SYSTEMADHESIVE SYSTEMADHESIVE SYSTEM
(w/ SCREENS, IF REQ'D)(w/ SCREENS, IF REQ'D)(w/ SCREENS, IF REQ'D)(w/ SCREENS, IF REQ'D)

3/163/163/163/16

EMBED.EMBED.EMBED.EMBED.
3 3/8"3 3/8"3 3/8"3 3/8"

1 1/2" STD. PIPE1 1/2" STD. PIPE1 1/2" STD. PIPE1 1/2" STD. PIPE

3/163/163/163/16

3/163/163/163/16

3/163/163/163/16

2
'-
1

1
" 
T
O

 R
A
IL

2
'-
1

1
" 
T
O

 R
A
IL

2
'-
1

1
" 
T
O

 R
A
IL

2
'-
1

1
" 
T
O

 R
A
IL

1/4" PLATE1/4" PLATE1/4" PLATE1/4" PLATE

AAAA AAAA

HSS2x2x3/16HSS2x2x3/16HSS2x2x3/16HSS2x2x3/16

(E) WOOD(E) WOOD(E) WOOD(E) WOOD
PLANKPLANKPLANKPLANK

ADDED 2x JOISTSADDED 2x JOISTSADDED 2x JOISTSADDED 2x JOISTS
@ RAMP POSTS@ RAMP POSTS@ RAMP POSTS@ RAMP POSTS

SECTION A-ASECTION A-ASECTION A-ASECTION A-A

(@ INTERMEDIATE POSTS)(@ INTERMEDIATE POSTS)(@ INTERMEDIATE POSTS)(@ INTERMEDIATE POSTS)

PL. 1/4"x8"x8" w/ (4)PL. 1/4"x8"x8" w/ (4)PL. 1/4"x8"x8" w/ (4)PL. 1/4"x8"x8" w/ (4)
1/2"Ø LAG BOLTS1/2"Ø LAG BOLTS1/2"Ø LAG BOLTS1/2"Ø LAG BOLTS

TYP.TYP.TYP.TYP.
1"1"1"1"

T
Y
P
.

T
Y
P
.

T
Y
P
.

T
Y
P
.

1
"

1
"

1
"

1
"

5/165/165/165/16
3 SIDES3 SIDES3 SIDES3 SIDES

SECTION A-ASECTION A-ASECTION A-ASECTION A-A

(@ CORNER POSTS)(@ CORNER POSTS)(@ CORNER POSTS)(@ CORNER POSTS)

PL. 1/4"x8"x8" w/ (5)PL. 1/4"x8"x8" w/ (5)PL. 1/4"x8"x8" w/ (5)PL. 1/4"x8"x8" w/ (5)
1/2"Ø LAG BOLTS1/2"Ø LAG BOLTS1/2"Ø LAG BOLTS1/2"Ø LAG BOLTS

3"3"3"3"

TYP.TYP.TYP.TYP.
1"1"1"1"

T
Y
P
.

T
Y
P
.

T
Y
P
.

T
Y
P
.

1
"

1
"

1
"

1
"

5/165/165/165/16
3 SIDES3 SIDES3 SIDES3 SIDES

1"1"1"1" 1"1"1"1"

1
"

1
"

1
"

1
"

3
"

3
"

3
"

3
"

1
/2

"
1

/2
"

1
/2

"
1

/2
"

P
E
N
.

P
E
N
.

P
E
N
.

P
E
N
.

4
" 
M

IN
. 

4
" 
M

IN
. 

4
" 
M

IN
. 

4
" 
M

IN
. 

OTHER INFO NOTOTHER INFO NOTOTHER INFO NOTOTHER INFO NOT
SHOWN FOR CLARITYSHOWN FOR CLARITYSHOWN FOR CLARITYSHOWN FOR CLARITY

PROVIDE DOUBLE 2x6 @PROVIDE DOUBLE 2x6 @PROVIDE DOUBLE 2x6 @PROVIDE DOUBLE 2x6 @
RAIL POST CONNECTIONSRAIL POST CONNECTIONSRAIL POST CONNECTIONSRAIL POST CONNECTIONS
FASTEN TOGETHER USINGFASTEN TOGETHER USINGFASTEN TOGETHER USINGFASTEN TOGETHER USING
(2) ROWS OF 10d NAILS(2) ROWS OF 10d NAILS(2) ROWS OF 10d NAILS(2) ROWS OF 10d NAILS

@ 12"o.c.@ 12"o.c.@ 12"o.c.@ 12"o.c.

3"3"3"3" 2"2"2"2" 1"1"1"1"

1
"

1
"

1
"

1
"

2
"

2
"

2
"

2
"

1
"

1
"

1
"

1
"WOOD "WALL"WOOD "WALL"WOOD "WALL"WOOD "WALL"

SEE 11/S300SEE 11/S300SEE 11/S300SEE 11/S300

PL. 3/16"x4" w/ (4)PL. 3/16"x4" w/ (4)PL. 3/16"x4" w/ (4)PL. 3/16"x4" w/ (4)
1/4"Ø LAG BOLTS1/4"Ø LAG BOLTS1/4"Ø LAG BOLTS1/4"Ø LAG BOLTS

BBBB BBBB

SECTION B-BSECTION B-BSECTION B-BSECTION B-B
3/163/163/163/16

3/163/163/163/16

(E) FLOOR SYSTEM(E) FLOOR SYSTEM(E) FLOOR SYSTEM(E) FLOOR SYSTEM
MUST BE FIELDMUST BE FIELDMUST BE FIELDMUST BE FIELD
VERIFIED & EVALUATEDVERIFIED & EVALUATEDVERIFIED & EVALUATEDVERIFIED & EVALUATED
BY LANDLORD'SBY LANDLORD'SBY LANDLORD'SBY LANDLORD'S

ENGINEER PRIOR TOENGINEER PRIOR TOENGINEER PRIOR TOENGINEER PRIOR TO
CONSTRUCTIONCONSTRUCTIONCONSTRUCTIONCONSTRUCTION

V
E
R
IF

Y
 w

/ 
A
R
C

H
.

V
E
R
IF

Y
 w

/ 
A
R
C

H
.

V
E
R
IF

Y
 w

/ 
A
R
C

H
.

V
E
R
IF

Y
 w

/ 
A
R
C

H
.

(E) BRICK WALL(E) BRICK WALL(E) BRICK WALL(E) BRICK WALL
OR PARTITIONOR PARTITIONOR PARTITIONOR PARTITION
WALL, SEE ARCH.WALL, SEE ARCH.WALL, SEE ARCH.WALL, SEE ARCH.

VERIFY w/ ARCH.VERIFY w/ ARCH.VERIFY w/ ARCH.VERIFY w/ ARCH.

VERIFY w/ ARCH.VERIFY w/ ARCH.VERIFY w/ ARCH.VERIFY w/ ARCH.

(2) #10 TEK(2) #10 TEK(2) #10 TEK(2) #10 TEK
SCREWS TYP.SCREWS TYP.SCREWS TYP.SCREWS TYP.

(E) WOOD(E) WOOD(E) WOOD(E) WOOD
SUBFLOORSUBFLOORSUBFLOORSUBFLOOR

3/4" WOOD FLOOR,3/4" WOOD FLOOR,3/4" WOOD FLOOR,3/4" WOOD FLOOR,
VERIFY w/ ARCH.VERIFY w/ ARCH.VERIFY w/ ARCH.VERIFY w/ ARCH.

3/4" WOOD FINISH,3/4" WOOD FINISH,3/4" WOOD FINISH,3/4" WOOD FINISH,
VERIFY w/ ARCH.VERIFY w/ ARCH.VERIFY w/ ARCH.VERIFY w/ ARCH.

2"x2"x16ga. ANGLES2"x2"x16ga. ANGLES2"x2"x16ga. ANGLES2"x2"x16ga. ANGLES
@ EACH STUD@ EACH STUD@ EACH STUD@ EACH STUD

3/4" PLYWOOD,3/4" PLYWOOD,3/4" PLYWOOD,3/4" PLYWOOD,
VERIFY w/ ARCHVERIFY w/ ARCHVERIFY w/ ARCHVERIFY w/ ARCH

V
E
R
IF

Y
 w

/ 
A
R
C

H
.

V
E
R
IF

Y
 w

/ 
A
R
C

H
.

V
E
R
IF

Y
 w

/ 
A
R
C

H
.

V
E
R
IF

Y
 w

/ 
A
R
C

H
.

3/4" PLYWOOD, FASTEN3/4" PLYWOOD, FASTEN3/4" PLYWOOD, FASTEN3/4" PLYWOOD, FASTEN
TO STUDS AND ANGLETO STUDS AND ANGLETO STUDS AND ANGLETO STUDS AND ANGLE
USING HILTI X-GPN 37USING HILTI X-GPN 37USING HILTI X-GPN 37USING HILTI X-GPN 37
MX FASTENERS @MX FASTENERS @MX FASTENERS @MX FASTENERS @

6"o.c.6"o.c.6"o.c.6"o.c.

362S162-33362S162-33362S162-33362S162-33
STUDS @ 12"o.c.STUDS @ 12"o.c.STUDS @ 12"o.c.STUDS @ 12"o.c.

S300

1

S300

1

(E) PARTITION WALL(E) PARTITION WALL(E) PARTITION WALL(E) PARTITION WALL

SEE 11/S300 FORSEE 11/S300 FORSEE 11/S300 FORSEE 11/S300 FOR
ADDITIONAL INFORMATIONADDITIONAL INFORMATIONADDITIONAL INFORMATIONADDITIONAL INFORMATION

4431 Lake Avenue South

White Bear Lake, MN 55110

p: 651.207.5527

f : 651.207.8247

NewStudio

Advanced Structural Technologies

7212 Metro Blvd
Edina, MN 55439
(952) 854-9302 tel

(952) 854-9690 fax
www.astmn.com

© PROPERTY OF ADVANCED STRUCTURAL TECHNOLOGIES.

THIS DOCUMENT MAY NOT BE USED OR COPIED WITHOUT

THE PRIOR WRITTEN CONSENT OF ADVANCED

STRUCTURAL TECHNOLOGIES.

REVISION :

ISSUE / DATE:

SHEET TITLE :

SHEET NO :

DRAWN BY: CHECKED BY:

PROJECT PHASE: CD

NSA PROJECT NUMBER: 2013-99

STRUCTURAL ENGINEER:

ENGINEER/SEAL:

AST PROJECT NUMBER:

60 Pearl Street

Portland, ME 04101

FO

A

ETATS

MA I N
E

NOISS

E
F

O
R

P

L E NG

I N
E

E
R

L I C E N S E D

PAUL
E.

STOLE
10481

SECTIONS AND

DETAILS

S300

100% CHECK SET                                07-11-2014

BID/PERMIT                                          08-01-2014

ME 1001

AJM DCB

 3" = 1'-0" 3" = 1'-0" 3" = 1'-0" 3" = 1'-0"

DETAIL - STEEL TRACK TO EXISTING WOOD FLOOR CONNECTIONDETAIL - STEEL TRACK TO EXISTING WOOD FLOOR CONNECTIONDETAIL - STEEL TRACK TO EXISTING WOOD FLOOR CONNECTIONDETAIL - STEEL TRACK TO EXISTING WOOD FLOOR CONNECTION
1

 6" = 1'-0" 6" = 1'-0" 6" = 1'-0" 6" = 1'-0"

DETAILDETAILDETAILDETAIL
2

 6" = 1'-0" 6" = 1'-0" 6" = 1'-0" 6" = 1'-0"

DETAILDETAILDETAILDETAIL
3

 3" = 1'-0" 3" = 1'-0" 3" = 1'-0" 3" = 1'-0"

DETAIL - LIGHT GAGE HEADERDETAIL - LIGHT GAGE HEADERDETAIL - LIGHT GAGE HEADERDETAIL - LIGHT GAGE HEADER
4

 3" = 1'-0" 3" = 1'-0" 3" = 1'-0" 3" = 1'-0"

DETAILDETAILDETAILDETAIL
5

 3" = 1'-0" 3" = 1'-0" 3" = 1'-0" 3" = 1'-0"

DETAILDETAILDETAILDETAIL
6

 6" = 1'-0" 6" = 1'-0" 6" = 1'-0" 6" = 1'-0"

DETAILDETAILDETAILDETAIL
7

 1 1/2" = 1'-0" 1 1/2" = 1'-0" 1 1/2" = 1'-0" 1 1/2" = 1'-0"

DETAILDETAILDETAILDETAIL
8

 3" = 1'-0" 3" = 1'-0" 3" = 1'-0" 3" = 1'-0"

DETAILDETAILDETAILDETAIL
9

 1 1/2" = 1'-0" 1 1/2" = 1'-0" 1 1/2" = 1'-0" 1 1/2" = 1'-0"

DETAILDETAILDETAILDETAIL
11

 3" = 1'-0" 3" = 1'-0" 3" = 1'-0" 3" = 1'-0"

DETAIL- STEEL TRACK @ TOP OF WALLDETAIL- STEEL TRACK @ TOP OF WALLDETAIL- STEEL TRACK @ TOP OF WALLDETAIL- STEEL TRACK @ TOP OF WALL
10

 3" = 1'-0" 3" = 1'-0" 3" = 1'-0" 3" = 1'-0"

DETAIL- HSS BRACE-TO-WALL CONNECTIONDETAIL- HSS BRACE-TO-WALL CONNECTIONDETAIL- HSS BRACE-TO-WALL CONNECTIONDETAIL- HSS BRACE-TO-WALL CONNECTION
12

 1 1/2" = 1'-0" 1 1/2" = 1'-0" 1 1/2" = 1'-0" 1 1/2" = 1'-0"

DETAILDETAILDETAILDETAIL
13

 1 1/2" = 1'-0" 1 1/2" = 1'-0" 1 1/2" = 1'-0" 1 1/2" = 1'-0"

DETAILDETAILDETAILDETAIL
14

 1 1/2" = 1'-0" 1 1/2" = 1'-0" 1 1/2" = 1'-0" 1 1/2" = 1'-0"

DETAILDETAILDETAILDETAIL
15


